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® -3x-3=0 ® -3x+3=0 ® -x-3=0

@ x-3=0 B x—1=0



ohg WA FolA o7 B s

D 2x+4=0
® 3x=x-4

® 3(x-2)=5x-2

@ 5-2x=2x—-4

@ 2(x-2)=x-6



<+

op

Ao

3o} £

=
=

he 24

1
Fod=t.

S

5|

EEECE
W) 1




Al 5x+b=ax—27} 3 72 & 7HA 2 A9

@ a=5,b+-2 ® a#h

® a+5 b=-






Al 7he] 3 9] BjZ=7} ot} 7P 2 2 gE =

2, Al 4 F Vg A 48 Y

94

@12 315 @18 6 21

2



15.

Ed o] dol7t 62cm o], 7t2 2] Aol7t Al=e] Zo]HT} 3em T
we ALY o] 712 2] ZolE Aotofgt,

B cm



16.

2x —

3

5]

1

x+4

ol oE

o, atho] e

Eila+b=

3x+05x 2x—§
afolat,

1 _
Su 19l 918 bet



17. thg I Saehu] gre] A2 vtz ]9 o G| Faeu] gt
SR A1) golth, o W x o] g Ftele,

QQQ



?

LSS
1

(x—3) :49] 3l

27

® 41 B 43 @ 45 B 47

@D 39



[e)
=

11 [e) ;H7]_ g
— 5]

Tax+3 x-T729] =

7) 2 ax

3(x

T
|

5 9
QT
s
T
X o]
RO L
[=0)

)
X S
G
1] =y
o



20.



21. 17hef 500 ¥ Akaket 1 70e]l 800 < HH% e }04 20 71= 500 ¥4
Aol ol A9 ghol 12000 Yol Hk 2she] 11 s}, o,
Atake] Ffa=E ool et

B e 7R



D 12 ¥ @ 24 & 3 36« @ 48 & ® 60 Y



23.

17017t sS4t skt &2hd te Al 2km 2 A4, Y2E de

ZoHd BTt 2km o W A2 Al 3km 2 ZofA F 4 Algto] AR
ojmj, ®173°17t A2 F 7121E F5tof=t.

B e km

._:Lm



24. 10%9 2352 200g°) x %2 AF 22 400g 4014 12% 2] AFES
e T o, x & Fotofet

D 10% @ 11% ® 12% @ 13% ® 14%



